1. Opener
15 36
a) Solve all three:

b) Solve for b:

21
15
22° 22°

14

b

c) The radius of the sun is 695,500 km. The radius of the Earth is

6,378 km. If they were both made of chocolate, how many times
heavier would the sun be?

d) What is the only fruit that grows its seeds on the outside?



2. Trigonometry

Sine, Cosine, and Tangent
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2. Trigonometry

Sine, Cosine, and Tangent
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2. Trigonometry

Sine, Cosine, and Tangent

opposite )
= Ssine
hypotenuse
0‘)56 e
X RS :
*QO 3 adjacent
o @, = cosine
i o hypotenuse
34 B
adjacent opposite
—F = tangent

adjacent



2. Trigonometry
Find all the trig functions.

SOH




2. Trigonometry

Find all the trig functions.

sin(34°) = 2 = .559]
h
25.54 a
14.28 cos(34°) = F = .8289
34° M
21.17 o -
tan(34°) = — = 6745
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2. Trigonometry

1. Sine, Cosine, or Tangent?

Sine




2. Trigonometry

2. Sine, Cosine, or Tangent?




2. Trigonometry

3. Sine, Cosine, or Tangent?

|7

cosine




2. Trigonometry

4. Sine, Cosine, or Tangent?
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tangent




2. Trigonometry

5. Sine, Cosine, or Tangent?

tangent




2. Trigonometry

6. Sine, Cosine, or Tangent?

4 10

cosine




2. Trigonometry

7. Sine, Cosine, or Tangent?

13

Sine




2. Trigonometry




2. Trigonometry

Solve for x.




2. Trigonometry

Solve for x.




3. Classwork
pg. 624 // #1-7,9 - 19




In the figure below, if sinx = i, what are
cos x and tan x? 13

A cosx=£a.ndtanx=i
13 12
B cosx=2andtanx=2
13 5
C cosx=£a.ndtanx=i
2 2

13 13
cos x=—and tan x = —
12 5




Approximately how many feet tall is the
streetlight?

40°

20 ft

sin 40° ~ 0.64
c0s40° =~ 0.77
tan40° =~ 0.84

A 128

B 154

C 168

D 238
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1. Opener

a) Do these triangles involve sine, cosine, or tangent?

14 27 40
cosine sine tangent
x = 15.1 x = 57.5° x=7.1°

b) Pick two and solve for x.
c) What is the only mammal that can’t jump?
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2. Classwork
pg. 628 // #1 -6

3. Classwork Answers

655 meters

101.2 meters
64.67 meters
188.2 meters
226.7 meters
973.5 meters
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4. Break
5. Show and Tell
6. STAR Review




1. Opener

a) Do these triangles involve sine, cosine, or tangent?

14 27 40
cosine sine tangent
x = 15.1 x = 57.5° x=7.1°

b) Pick one and solve for x.
c) Why isn't there a Guinness World Record for world’s fattest cat?






6. Dilation Project o




6. Dilation Project




6. Dilation Project




6. Dilation Project o













